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2. DATA & INFORMATION COLLECTION

o C o) d
1r ¢ Chain stay

> M=LF, -L,F =0, Fezl_il:d

2

Y F,=—F+F,+F, =0, F=(1+ide

2




2. DATA & INFORMATION COLLECTION




3. DESIGINBAR AR S

4. IDENTIFICATION OF A CRETERION
TO BE OPTIMAZED

F@@ 6, 6 R t)=pxL . . x(27 Rt)

total



5. IDENDIFICATION OF CONSTRAINTS

6 __9 [y . 6 19
ad b'3 d3
. . F
F =F —F,sing, =0 F,=F —F,sing,=0, F,=—¢
. F Z y b 3 1 z y d 4 3 ’ 4 N
Y F,=Fsing,-F, F=_— - SIin 6,
2 F3: - Fd
F, =F,cosé, sing, ZFX=—F5+F400593=0, F5:F4C0803:tan6’3

52 & £ =0l

_ﬂ-ZEI ”ZERZ L[otal = Lo+ ,H +2 L2+ H +2 . SInez L2+ H + - SIn92 LO
P.= TR o, = a7 siné, tan g, sin(180-6, - 6,) tan &, sin(180-6, -4,)




- 5. IDENDIFICATION OF CONSTRAI

gc O shear stress | _ O, 5 s
07 ~011 Oomal stress | < Ocr
0<R<0.015

0 <t

0. .<0 <6

min_ max__I



GRAPHICAL SOLUTION

0.002
0.004
0.006

gl

4.29112E-05
2.14556E-05
143037E-05

a2

g3 g4 a5 a6 volume a7 a8 g9 gl0

4.95496E-05 0.000155 0.000236 0.000492351 0.000541 0.000598846 0.004977379 (0.012765673 0.005737 0016771
2ATTA8E-05 7.75E-05 0000118 0.000246176 000027 0000299423 0000622172 0.001595709 0.000717 0.002096
165165E-05 517E-05 7.88E-05 0.000164117 0.0001& 0000199615 0.000154347 0.000472803 0.000212 0000621

gll
0.031583
0.003948
0.00117

0008
0.01
0.012
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0016 -
0018 O
002 3
0022 |
0024
0026
0028
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0032L__
0034
0036 0
0
0
0
0
0
0
0
0

0.001

0.0008

0.0006

0.0004

Q0.0002

0.0020.0040.0060.008 0.01 0.0120.0140.0160.018 0.02 0.022002400260.0280.03 0.0320.0340.0386
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NUMERICAL SOLUTION

o1 62 638 BISAIZI0 D2t D=
| Z|== 0| 28t 0/X= HEA

FUNCTION F=MYFUN(X) FUNCTION [C,CEQ]=CONFUN(X)

‘ F=1470;

||;|-£;9146' N_S_A=31666666;
N X 9 . V_D= 1069;

H_A_l:—0:4'445' S_S_A=18333333;

L_2=0.3; E=23333333333;

F=(((L_O+H_AF/SIN(X(2)+P1()/180)+2+(L_2+H_AF/TAN(X(2)+PI()/180)}+2+( P

SIN(X(2)*P1()/180)/SIN((180-X(2)-

H_AF=0.4445;
X(3))#PI()/180)+(L_2+H_AF/TAN(X(2)+P1()/180))}+L_O+SIN(X(2)+P1()/180)/S 3 i
IN((180-X(1)-X(3))*PI(}/180)))2+PI(1*X(4)#X(5)): GL=R/EFI0X@«X(6) SINCQ)FI0/180))

N_S_A;
C(2)=V_D*COS((90-X(2)-
X(3))*P10/180)/(SIN(X(3)*P10/180)*2+PI0*X(4)*X

X0=[1,1,1,1,1]; (5))-S_S_A;
ll.-lBB=- [[?15080052158 0.015.0.051: C(3)=F/(2+PI0*X(4)*X(5)*SIN(X(2)*P10/180))-
OPTION’S=(:)P'I.'IM’SE.T('L:‘\IEIGESCALE'.'OFF')3 §;PIO 2+E+X(4)"2/(8+(H_AF/SIN(X(2)*P10/180))"2)

X=FMINCON('MYFUN',X0,[1,[1,[1,[1,LB,UB,'CONFUN',OPTIONS) CEQ=I[1;
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